Step by Step Sanskrit Learning Programme — Level 1, Month 17, Lesson 62-64

Lesson 62. The Alphabet. EFﬁ _ T

A) Evolution of Sound.

As sadhaka-s, let us introduce ourselves to the world of sounds.... =e99= [The
cause of the world of things.... HEAIGE ... is THA | In the context of sound, T is
RMsas@dd | The entire world is said to be born of 2= ... GAM™d | Evolution is the

result of the self movement &4 of Shiva-Shakti. The line of evolution is from the
subtle to the gross. There are five stages to the emanation of sound.

1. The first is QU which is absolutely supreme and subtle. This can best be described
as the storehouse from which inspirations would first emerge.

2. The second is &F=l which is less subtle but is still undifferentiated. This would
be the inspiration that would eventually give rise to a thought or an idea.

3. The third is #HHT which is grosser and undifferentiated, though not articulate.

This is actual thought process which goes into concretizing the idea.... a plan of
action.

4. Articulate sound is called @ which further takes two forms: subtle and gross. It

is from that that all the letters Eﬂﬁ words 9g and sentences dIR are manifested. The

subtle forms of these letters are the mantras. The gross takes the form of the
language we use.

qU: is that form of sound which cannot be broken up further into smaller parts. It is
therefore also called 3T&H | A %m%l gﬁ'l%l A | Alg or A ....sound ..... can never be

destroyed. That 31&H, when it is in a written form is called the aul: | Over a period
of time both words have now become interchangeable.
A& -s, when put together to intelligently express thoughts and feelings is called the

9q | A group of 9q s form a 919 ; and 919l s put together so that another may

understand what one wishes to express, then becomes language ¥®I | The Sanskrit

script, is called iElTﬂTlﬁ |

B) =UTT:
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Let's go over the list of quT: again. The divisions that you see below have been made

by Panini and described in his 'Ashtadhyayi.' We need to study this so that we are

better able to understand how Panini worked at his grammar.
&

8,3,k , @ (BEEU:) are pronounced in one matra ( a measure of time almost

equal to one second )
Sl ,é W, F, T, S, an (éﬁ_@_ﬂ:) are pronounced in two matras

M, T, T, W ,P, W, W@, M, i (FAE).... used when calling out to
someone and take more than two matras to be pronounced.

m so named by Panini.

¥ (TgER)

a: (ferem:)

(I've spent about a trillion hours trying to find a symbol that looks like two smilies
put together, one on top of the other, the top looking like a smile and the one below
looking like a frown in the place of the visargas for the four alphabets listed below.
Sorry. Don't have the software to create an image even. But I'm sure you'll be able
to figure out what | mean. If any of you has; and can create an image, please will you
send it to me at 'Queries' so that | may replace these four visargas with those? )

& ¥ (Nemea:)

A A (E‘qwlﬁ'q:)

ﬂ(‘ o

F gl qToTe: (F)

~ fd qrort: GEL!

< 3 Tfuri=t: (& )

d g quferfer: ()

| A |||
S| 2o el | g |
e Lal | 4| A | w
| e |||
A A A o

g 3fq Tt ()
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(Secret revealed: It is good to remember the above 25 FAT column-wise too. For
example® 4ZdY etc.)

SR FGlG

g, Y, &, 9 (T=eA:)
3, Y, 9, & (IH:)
%, &

%, J and % are not included in Panini's work, who dealt with only the language in

use and not what is originally in the Vedas. But we shall keep them in anyway.... just
so that we do not forget them.

ISHNUMH |
Your teacher will help you pronounce the &&:, IENERT: and the AR |

I'll just supply a table that you can refer to. The beauty here is that this classification
works in various ways. It helps making and breaking sandhis, writing out words with

GHFIT'I%W -s and understanding the relationships of each "family group" ... how one
letter can be substituted for another and ideas like that.... For example, you would
have often seen both dd and dg | It also helps us understand why Parama Pujya

Swamiji pronounces %% TR the way He does.

qu: ST ST U
37 T 3 wUS RIS
FENUS

gfam ()&

gIN ag o
ABTAGA

kY

+ 7 TR Ge| o

E A

(9%
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AL qdl: qrcd:
SR

aY

IF I st e
qRIAYH

SYHEE: (9 F)

(actually the two

smilies I've

mentioned earlier)

SSAUAH ATRIRT RUSTS: SR UISED
qq FIGAG: FISAIGA:
3 o RUSTSH RS
q gigH. geilsd

!

P W) EEE IR [EREIRE

( smilies again.)

ATER: AT -

dis a qU: that has been given a position of equal standing in the TUMATST in the
Vedas. Sanskrit grammar, whether modern or classical, visualizes it as % + ¥ and
you will therefore find it in the dictionary in the & section.

However, we have retained all the Elﬂﬁ: that are in the original EU%H'IEF[ |

This has an important effect on pronunciations.

Originally, the forem was pronounced as the expulsion of breath.

Over the years, the pronunciation of the for @ has changed. It now carries forward
the sound of the letter just before it.

¢ 0

. < A e e
dqul: is pronounced dUI& , 9UTT: is pronounced dUTIET , 9UI: is pronounced dUll&
& is pronounced 3]&g and so on and so forth.

www.chitrapurmath.net © Shri Chitrapur Math 2002-2017 Page 1392




Step by Step Sanskrit Learning Programme — Level 1, Month 17, Lesson 62-64

When the f3&T1 is followed by a %, |, 9or a% the foem s forcefully expressed.
Going by this, if the farET were to be followed by & which, according to grammar a &
+ Y the {0 should have been forcefully expressed. But it is not. In this case, the

{1 does what it now does....it carries forward the sound of the letter just before
it.

C) Maheshwara Sutra-s.

AR5 - GATT

NN

TE: qritTfel: SEhaeATRUR T | qTfU: JEAid 3T SATEon: 3, | fheg o
T ;ST STl A | A Ty HEMA: TU: Tee: Tr=ieiaH: |

qifUTe: SRl FEMghg: ITHId. 3fd AeEd| Tiod: @ faeeE &Y S
SUNT=. | foheg, IR @: AERNTETd, FeRiad: SRTad, | o ST9HTEA 2Tt gRaa: qrioTe:
INTG Il FON AT A | T I el RIGTe: WiEd: G Il Fafed
W | ANt G JUEE d@q9: Heled: SN G SR STRTEd, | Udd que
WHE TARY degd, | Gdu AR TR W ARt SdeREN SHEY, SEedd, |
Ut TGN, SHERTE STl Tgaal g1 ST | Tishee: 31 g 3 U] i Goeyqu
T FUEE UfGS: | ATl AT ARG He | ATl GATOT TR ST
qed |

SIHERCRY |

S E
LA
el g

. EFTIL
SR

AT UAq
. HS]

0 N O O b W N
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9. 9TYY
S ER S

1 E@RFIFITEAT
12.%F99

13. VY

148

Panini has based his entire grammatical work on these sutras. To avoid a detailed
recital of the letters, he used what is called the IHERI It is very much what you

would see advertised in a shop window " A-Z available here." Rather than list what
he has, the shopkeeper, in his A-Z, has conveyed the fact that he stores all that you
need.

Similarly, when Panini wished to list only the & , he just said =9 and no more.
Look at the sutras again. Which sutra has the 31 ? The first. Which sutra ends in 9 ?

The fourth. Ignore every a0 with the 8o+ . They are called 3?[3‘31%: and are only

indicatory letters which disappear the minute the purpose of indication has been
fulfilled.
List all the letters that are in the four sutras and hey presto, you have a list of all the

@ |

Let's take another example. RI[ would be a a0 in the 3rd and 4th column. Gottitt??
The peculiarity of the € s is that they can start from any au| They may begin
with a 901 coming from the middle of the group, but they must end with an 3?[3‘3?: |
Panini then worked on 41 such STER s in his ST | U1 comes twice as an 3?-[5[‘1?2
| Whenever you have to choose the first, (1) will be written against the YR |
Whenever you have to choose the second, (2) will be written against that IR |

Shall we try work with IHTEI s as a home assignment? Please refer to Lesson 62 A.
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D) U1, gf, <19, GEFERTT changes.

You would have heard of §<¥H and it's relative Fﬁa?'h{ | It is apparent that the S
and 2 are connected. What has happened here is a '{I\% | . It is often difficult to
remember these terms.... 301, ?fl\%, é’]ﬁ, HEERUT | So here is a list you can refer to

when foxed by sandhis. The idea is to see the correlation amongst alphabets.

= o T |3 |® | | |¥ it 7
M T % =
\/ v [V [V \/ \/ \/ \/ \/
& T S % |® |- _ _ ] _
il A T | | (¥ T |- a ]
g | e RO B G 1 O O 7 7
U |- OIS EIC
ERUES e UECUE - SEE!
R T |3 |2 3
v (VW 7
T |3 |= 3
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Lesson 62 A B- Exercises with the Maheshwara-Sutrani

Worksheets

List all the ElUﬁz in the IATEN s below.

g 3

v © N o O &> WD

—_
o
b
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21,83
22,73
235131
24 330
25931
26.99
27.99,
28.79
29.@9,
30.99
31

32.3R

33.8X
347

3531

36.31%
3783
3893
3933

4031
41. 7%

You do not need answers for this worksheet, do you? That's why the lesson is
named 62 A B.
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Lesson 63 S - Gi«d: Vvanjana Sandhi.

"Sandhi's not my cuppatea," was my refrain.... till | realized that a sandhi was exactly
what | had done with both, 'Sandhi is' and a ‘cup-pa-tea.’

Okay.... so if it is such a common thing in speech, couldai find egzamples a plenty?
Butsurely you betcha bottondollar | could! Not only in English but in every language

as well. Just have a look at this....Shuddup = Shut up. ( Vocabulary of the Younger

Generation, not mine.) An example of St RS |

It's just that us Indians love to study and have therefore made a science of
something as natural as sandhi. What happens is that a student who studies the
science first becomes quite dizzy with all the information, so | have here tried to
provide the smelling salts.

It's not so bad..... I've survived and so will you. Let's tagjust one stepatatime.

To make SJ - Tl*: easy to memorize and recall at a later date, let's go over how

the consonants are classified again.

F q T q T
q 3 S i 1
g 3 T g 0
1 9q g q 1
q ® T q 0
7 T @ et

&l T g g

The shaded consonants are the &R - ST | The hard consonants.
The rest are Hg - &S | The soft consonants.
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tremendously.

examples, especially from the Bhagavad Gita, for you to work with.

Please note that for our grammar study, we will work with the consonants specified
by Panini. Make sure that you are familiar with lesson 62. It will help you

Sandhi is a vast topic of study. Rather than do the whole lot, it seems practical to
just go over a few. (To give you an idea, we categorized sandhis into 40 sections of
which we plan to do just 9). The table given below gives you examples of the ones
you will see most often. Use it as a guide while you are studying specific details of
the sandhis given after the table on page 8 of this lesson. There are plenty of

T - Gfedt: . IEWH,
Name of the Effect Example
sandhi
gd
(&: %1 22 ) q/d in close A
proximity q (FAEEF
with 3 /9 .
..respectively)
Concrete q q £l T + TSI =
examples... T2 |
q 3 =l g + Fd =
= N
d 4 9 |d_ + | =
TR |
§ a\ E\ HH\ + Sid: =
qei: |
a S| g M + 4
= TR |
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AZBISTE T followed by | [ optionally
firstQ four of | AL converts into
a g ifitisad/
G converts
into 4
concrete d 3l 3] %ﬁ'HT-H
examples... TGS =
%ﬁnwam:
g
gAg: q/d in close g
proximity A (TG
with5/3 .\.grespectively)
concrete q g > THY + ¥8: =
examples Tq9s: |
q Z g T, + ek
= (HEIH
a z g o + EF =
SHER
q d g QU + d: =38
1 4 g FL+ A = F:
L G S P+ A = pT:
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SRl
TSt FTRNS | TS (all the any @ or a | corresponding
This generally consonants g &3 SRL
happens minus the
between two AT
different E’E’Hﬁﬁ, 973
words.
and 9)
Concrete % 3 il aE + 3 =
examples... anfia: |
o 3 S| A + Hed: =
J{{ed:
< AT Sl 9 + IE4: =
qeEd: |
d ST al Udd + g =
REHEHE
G g Cll W, + W =
d 4 G A, + BAw=
RGIEIGEE
QEFGWLET'I%II S ( all the a Hg I3 corresponding
This generally consonants STRL
happens in the minus the
middle of the AR
word. E’J@FITI'T\-I, 11
and 9)
Concrete q g E5 S + 9 o=
examples... FRT:
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‘q\ 'q\ % §‘€L + ﬁ:[: =
gfe: |
¢
dd
G R | S (all the HéN corresponding
consonants S = ( first five of
minus the each & + A ¥
3'@"'3'; q)
AN, IS
and 9)
Concrete g q el ANE + § =
examples... A9
q d q g + ol = Bl
1 d < Wg + dl= Wl
>N ¢ <.
GRS d 3 ddil is replaced
by &
q () <is replaced by
a nasal @&
concrete d & & 3T + BM: =
examples... a'_"’-'l@":l
“q % nasal @& Leldld + Hd
_ \& = |
AR
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2L ST | T includes all | followed by | Is replaced by
[3EA | its own
SYATERT a1 | the consonants | @ Nasa :
excepting & | (I, H,§, U, | corresponding
. ) nasal,
9 occurring at optionally.
the end of a 9q
Concrete a q e = S
examples... N
/%“rmq Iﬁgz
o0 B | Ay 9T4d ending | is replaced by
ﬁ-lF‘TF[ inHq Its (.)Wﬂ
corresponding
nasal,
compulsorily
concrete g Wﬁq;s: ‘“ﬂ:‘ﬁ:‘zﬁ: 1'%@ N .
examples... I%I-TRFL L
IJER
No need for a
tabular  note.
All details at
the end of this
Sandhi chapter.
Reminders q i ERH +97< =
gk a=g
q1 q qI6H + 95T =
q16 g
CERT2EIG d  occurring | followed by | isreplaced by
at the end of | @a®4 (3 4L
adq d ) and then
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by an 3H
(T +899
T @& +
ST |
concrete 1 /3 31 /30 de + 9 =drd
examples... Jats
1 Z/3 ¥/ % d + SENH
GLEEINE
1 a/4 H€/49 T + dA
= A /
IH
A1G: YA, This rule gleq: 9 9afd YA, + aAitd
does not apply =ma¢ﬁ1%r
to WM,
1) 2 |fea:

a) (¥ 271 2:)

Hand a au belonging to g, in close proximity with [ and a au belonging to J are
replaced by 3 and a T belonging to J |

Whenever there is a combination of H or ?LEITQI (d,¥,3,H9,d) WITH (either
before or after) 3 or with the GEU (d,9,5, ", 31 ) the § changes into 3 and the
a changes into its corresponding & Enl (AAEEH.....that is respectively.),

MM, + Flhd: = THESA: |

g + Sid: = 9al:

d, + STEId = dTsard

Here are a few examples:
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1. A & JI=am™ FHGTE -
AT I EH,
d GUUTHTY e, || 37 o R-¢ ||

_ a a [Nl aN
HH TAJATd, Id, 2MHH, 3d,_ - AYUTH Isd10TH. ( To figure out why 21 has become
look at the next sandhi... IXBISKE 1)

2. S dSE QY ear=rRiNd: |
TSN g AISITIAAHART | | 31 0 91 ||
T ST A 58 1[I I Jaed_ Safarsd

3. SMUATTRA( B -

qidagafd d8d ;|

AT ST

SIATCH 3¢ < 99 RIS || T 0 3% ||

e = IEhad |

4. 991 f& FTnTERIFTeE: T faRrad |
Wldlc@lﬁi‘hc’zcﬂl*lkﬂl*Il‘mbli:d{ddd(&|| Mo 23-23 ||
IIERIFNGEH = STTETd JH,

b) IRBISK |

Fully stated, 9: Az & e | Here, in this sutra, the F9: is drawn from a previous
sutra. If Y (first four of a -1 ) is followed by I then that 31 is optionally replaced
by S |

If the 2L is followed by 31& , then if the ?JTLE[U% isag, it will be converted into a S
(Fﬁ: 1 4:) and then that Slis converted into a 9, (@ﬁ d ....Refer to Sandhi No. 4).

If itis a d, then it is replaced by %L(Fﬁ: g ) |
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In g + I, the g changes to 9 and the A changes to ¥ OR remains 2L |

S + TEUHH: = AHABEUHH: |

Had + I(heH = HE=5heH |

1. A & JI=am™ FHGg -
TSRS H S AT |

AT I EH,

d GUUTHTY e, || 31 o R-¢ ||

TATI - TSRS U aToT,
HH G, Td 2NFH 3 - 2NTOTH FfesdToTH,

This could have been written as

HHIITE - TRNF NSO,

2. 991 & TSI AR |
‘cmqusﬁwacbcqmww||vc9||'3d<«1«1dw|| Mo 23-23 ||
ANTSS T~ = AR ZMMfed

2) g gfe:

BqAE:

N9 9

Fully stated, s gg: | Here, in this sutra, the i: is drawn from a previous sutra.
H and a T belonging to g, in close proximity with ¥ and a U] belonging ¢ are
replaced by 9and a au belonging to ¢ |

Whenever there is a combination of Hor d GO (d,¥9,5d,49,1 ) WITH ¥ or with the
z o (€,%,%€,@, ) the | changes into ¥ and the d =1 changes into its
correspondingzaﬁ |
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{HY + ¥8: = (HHE: |
S+ d: =88 |

fere + g = famay: |

FY + €d: = FI: |

3) SR e

a) A SRS |
Fully stated, 98&T 37w 5l SI=: |

Whenever there is a combination of A& ( all the consonants {minus the

AFATHFRATATA |, AL @ and T ) WITH any &R or a Jg &S, it changes into its
corresponding STRI ( the third a1 of each &I ) , This happens only if the sandhi taking
place is between two different words. If the sandhi is in the word itself then TSI &L

;R is followed. (Basically it is the same sandhi but given a different name.)

g having the same place of utterance as & =1 (h9& ) will be replaced with that
correspondingaﬂ? |
3l having the same place of utterance as | =1 (a1 ) will be replaced with that
correspondingaﬂ? |
¥ having the same place of utterance as € =1 (I[lcﬁ ) will be replaced with that
correspondingaﬂﬁ |
H_ having the same place of utterance as d Eul (g=dl: ) will be replaced by that

correspondingaﬂﬁ |

[ + ST = fom=r: |

1. 9 & TqZATH THTIG -

T3 = U~ AToT |

ST HHTFIITEH,

d GUUTHTY FMreraedl, || 37 o R-¢ ||
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AT AT =3 =3 ST H S AT |

HH IAFATd, I 2MRH, I 2MEUTH Feamon |

2. AT Heey HiERIatd e |
JAdTATY RAgHT ST 9 a<aa: | 13T o v-3] |
Rl = FHid Idid

3, SMUATTRA( HIH -
maaﬁaaaﬁ-laﬁamw: |

A=A ST

STATG 9 F 99 HieAd || 7 o 3% ||
HIH = A T

IMEETES(d = N=had, a8fd

4. THUTY G TFRI 2T ad |
TG Tl dFesd HGIUR | 131 0 2271 |

JEAR = Tl A
TR = Id JeIN
HEUUTH, = Hd STIUH

N N

5. 341 & TSR R |
SAFHRS AN AN TS e, | | 7T o 22-2R ||
SR TH = FFId, S

b) i SRL R
Whenever there is a combination of & (HAFH) WITH any IRI (JgHA~T{H ) it

changes into its corresponding SII ( third consonant), This generally happens in the
middle of the word.

g+ fa: = Tg"l\ﬁz |

SH+ Y = d:
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4) I qied:

a4 |

Fully stated, T T IS L | Here, in this sutra, the I (first consonant of each T: +
3,9, ¥) is drawn from a previous sutra.

Whenever there is a combination of % WITH a TSN A ,

it changes into its corresponding < |

S + G = A |
1. IEACTRAS i -

WeEagad qdd =: |

TR ST

ST 3¢ 9 99 Hid || 3T 0 R3[|

Wﬂ?ﬁ?{ + THd = W%qiﬂfqﬁl (d does not get converted into § because it is
followed by a FERARH. )

2. IR FST TRIN 2T I |

TAGEI Tl dAegesd HGqurH | 3T 0 -27 |

IRl = 99 HAN

IO = 9 d9ery

AT = dd. F&A

3. 241 & FAFRATESEINgd: T o |

IR RSAN AR TS ea Aol | | 31 o ¢2-2R ||

MRS = S, FHRS

5) >
Fully stated, @t (¥&I d ) {5 (PR N ) WE=w: |
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A consonant of @1 followed by & is replaced by one homogenous with the latter -

QAT - in this case , 3|

s replaced by a nasal & |
AEATGHd 4, - TG, ¥ |

1. g TN SRS 7% Hglg, AR ferqem |

I AT |, foad 9 famiies faem, | (9t Tiifaeed. - R)
TG = 9d W

6) STIAIRIRG:

a) T ST SR T |
Fully stated, TaT=ed I AT G STFATE: a1 |
JL includes all the consonants excepting |

g occurring at the end of a 9g followed by a nasal (31, |, &
its own corresponding nasal, optionally.

BT Wi = T/ g i |
Udd | / Tag H = Td~ 93d F97 |

e AeT: = fagen: / fewm: |

¥ remains as it is, it has no corresponding nasal.

1. GO f51d SRl SRmEiesTd 9 T: |

SN N ¢

TN R 92 @ = 8 BE: || 3o 22-2% ||
Il = I, Al
SR = SR Al

, U1, <) is replaced by
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b) S W feiea || (Tt )
The rule T SﬂﬂT’lﬁ% Sﬂ?ITﬁ:@:[ dl is compulsory if the 999 that is added ends in H,
R + HIEH, = [SRa= . - of little value.

7) STTER Hie: |

a) HISTER: |

Fully stated, H: AJ&ER: gls W - (B is drawn from a previous §=) - H, at the end
ofaqq is:

1) replaced by an 3TFEN if it is followed by a consonant.

2) when it appears at the end of a 9 or at the end of a sentence, it remains as it is.

1. {g TR AN 3% Hgle A S |

Tl feeTRaTa |, fod e foeiied e | (91 Ty, - R)
2. & Jgat e % FHgesy |

Afepgdt = o SeAfaed fRg=ad || (T o ¢-2)

b) aT 9gl« |

At the end of a 9g , the &N can be replaced by an alﬂ?lTﬁq?E qu which is
homogenous to the a0 which follows it.

o FM / gAY | = T / Ssvard |

¢) A FiS |

< and H not at the end of a 9g are replaced by an 3TJ&N when followed by
S - JAY |

d) STTERE IR THa: |
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When &N is followed by a ?JITLEFJ% it is replaced by an B:IT;F-lT'I'i:l% which is
homogenous to the latter. 91: | Gd: | FU&: | FHle= |

8) RSATRNM | (Cracked it!!!! Here's why it is W"}&?L and not%ﬁﬁ%ﬁ i)
< occurring at the end of a 9g is replaced by & if followed by a ©4 and then by an

3T | This rule does not apply to SRM9. ( an avyaya meaning "tranquil") , ( Please
have a look at the table for clear examples.)

IAAITR: e g a1 |

The a1 preceding % is optionally nasalised.
RIS JE: |

When it is not nasalised an &N is added.

Thus

AN = ®ER | TR |
— iR o | SgTe: g9e g

or = FHER | SATERIES TER: |
This T is replaced by the for w1 and later by 9. | Then the giea: rules are followed to
give either a EIE%JT?}&?L |

ora W'Q’JEL |

Similarly, {41, T = HAL =Td

= WA = / Wi = |

= Wala{d / Weieid |

TR - STOTH &< || 31 o 2-33] |
URIATGiE AN - TEgE, A |37 0 -2¢ ||
But not in the case of ST, fasfd |

1. SRR TG HIed |
AR TR ATgaiated qroedn: | 37 o R-22)
SR = SRR A
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FAHA = NG |

Kk k

You may not require to know any more sandhis than the ones listed in this lesson. If

you do come across undecipherable ones, please write. We'll respond to individual
requests.
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Lesson 64. Samasa Vichara. @HH - ﬁﬁlﬂt

A long long time ago, everything that needed to be passed from generation to
generation was done in the form of verse. Verse was the only means of ensuring
that knowledge was protected. It may have been years since we've left school, but
who has forgotten 'Jack and Jill'? Prose, on the other hand, has been relegated to
the back alleys of our mind.

In the midst of all this poetic creativity, a natural problem reared its head. Sanskrit is
the only language in the classical world which makes use of Y89. The use of HFd s
helps every single word to have an identity and a meaning of its very own. But fitting
the word + 999 into a metre in verse form was a difficult task indeed. "What to
do?" asked a poet. "No problem! Let's create a shortcut," said another. And GHH

came into being. @HE , § H & was the original SMS... Short Message Service. Be

| kid you not. There does exist such a verb: 3@ UENH  does indeed mean 'l am
creating a synopsis.... or in our layman terms... a shortcut.'
HHME allows a person to string two words together to form one single word. And

"ishortcut ishtyle" the first word is written without an appropriate 99 | For

example instead of saying U< I1: 1'd say ¥USTYA: and still make complete sense.
Why does Devdas have to romance his love with a long drawn out, "You have such a
beautiful face just like the moon!" All he'd do is say " A ﬂE‘EﬁH" Devdas too, by

the way, is a 9H word. &qw QlHd: ,?:,GIQIH: | The difference between a @*I: and a

HHME: would be that in the former, two letters combine to form a single whole letter

or a conjoined letter( either in the middle of a word or between words) and in the
latter, words are placed side by side with the vibhakti between the words dropped

but with the Qfe: occuring if required, to form a single word.

In a HHIE:, the HHEYg is the compound word... iTETF{: | 518 is when you break it
up into its components..... aa'@l?{l'{:l: |
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Naturally, it is with time that you will figure out in which combinations these work
out, for example E{Iﬂi‘d’: would not be correct. And it is with time that you will figure

out which words can be made a €§HIH: of. For example, 94T4: is allowed and NOT

q9madld. | Not to worry. In this case at least .. Time will wait for the Sanskrit
enthusiast!

Note:
This lesson is to help you figure out what §HIE words mean whenever you come

across them in your course of reading. You also now have the wherewithal to form
your own combination words intelligently.
Another thing to remember is that people are all made differently. Many a time you

will find that someone may have formed a @HH in one way and you may prefer
another. Both may be correct. So just relax and enjoy learning something new.

HHME can be divided into 6 classes according to the sense that they convey when
dissolved.

gal fev R = W e |
AcqEY FHINT I i agaia: | |

For our convenience, | have divided them into 9 groups. | have been better able to
retain the information with a wider classification like that.

. STHIME - A word which conveys a meaning, is a part of the @HIH which, after the
combination of the two words, becomes an 3789 | For example: add g to indicate _

N

A 'lots of goodness. " GAFHH. = HAFSIHI H’E['I\%: lots of auspiciousness.

. dg%Y: In this §HME, the second word of the @HIE is given importance. For
example: dgq¥: = g IW@: | We are talking about the TME: here and not the aa: |
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. FHGRE: In this HHTYE, one word is an adjective of the other. If a AEIHHTH has both
words in the same vibhakti, it is called a FHINE: | For example: "fl\lc’;lc“lc%l\ = «-'l\lc’zl-l\
SRS

) T'\Q'ﬂ: In this @HTE , which is a part of the FHINE: the first word is a number; how
many in a collection of things. For example : T@9¢! = T 9T GHER: |

. &5: Be sure to look out for the I between words in the [5&: of this @HTE: !11 For
example: ERECA: / ERIGEN: = R &4 764 |

) El@ﬁl‘l%: When two words are put together to imply something totally different,

o YN S
Elé?;m@ is what you see. For example: IgHll5: = deg: HIA I H: | Here, we are

neither giving importance to the moon or to the forehead but the Person who is
adorned so: Shiva.

. SIGFFHME: s not really a different §HIE: | Whenever, two words are put together
and the TME of the first word remains intact, then THE:  takes place. Depending

o\

on the &HTE: itself, it can be any of the above @H: | For example: JIBT: = Jid

R |
. =GHME:  is not really a different @H™E: | Whenever you wish to convey 'the
absence' of something, this @HME: is used. For example:BTf%[ﬂ: =qfa=: |

. SYYqEHTE: see how the noun is described here.. SHIFL: = I F 3|

HHME:  is a vast topic. Sorry, | made a mistake, a VAST TOPIC. We need to be

practical about such things. We can't handle it all at this stage. Let's go over a few
details to help us decode what we may most often come across. A tabular column
will help.

1. TEAMEGHTE: |
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You will recognize the ITAMEEHTE:  in words

. Where the first part of the word is an 3194 or a g (I%NHT: are particles which
possess no gender and number and the case termination after which is dropped or

elided. For example g3 (4 and others) and H1q3: (4 and others)
. The second part of the word is a noun (F=g1).

3. The combined word is an 4¥ and is ?IEI, ThddH |
. The combined word HH&YGH

conveys a special meaning to the noun.

is different from the faoE: , because the Y

Addition of THE9TH EPER

AT to mean

&1 in, on AMER &0 3

39  closeness SARH T g
fm or f) feretv . SHMM 3T
absence

3q behind/ S{JEH I 941d
following

9id  every SIRIEE fod fomm.

a1 in that JIRIE  no spelling FEHATIR

manner

error here. There is
no visarga. All these

words are 3{HY s

remember?
S with/ HAAHRH, S TE /SR
resembling qe3aH
3T beyond / AMEHTSTH, S| FRIREIG]
upto AR (eTar:)
STETSTEH, o s ((Hfth 7,

H’I%E%‘{c})alife

span (!!)
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dfe:  outside TR, T T
1q near/ HJHSH, towards the bank
towards
9d a) away qﬁw against the bank
from (opposite
of the meaning
in the above ~ o~
row) i,
b) repetition
9 abundance, GHSH, HETOTE TR
prosperity
gl  adversity, ROt qqTl Hhg:
poverty
3 e AE AT
destruction,
end of
et Afafezd g IR A o
inappropriate
3fd  utterance 3fd &R BT T
of sound
31 a) starting a) SIS a) ST HA: MR
from b) LU, b) TRUTHET,
b) uptil

2. AJeHEHE: |

AIEIEH: is that @HE:  wherein the first word-part's T¥E-S4 is dropped.
Depending on whichf@E-9™ that first part would have taken if broken into it's

oe: , thedcJ&Y¥HHTH: is given that particular name. For example: lﬁ'ﬂﬁ?ﬂ'ﬂﬁl: |
Go over the short explanation of ddJ&SHHH: at the very beginning of this lesson.
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Note: The word dcJeH: itself will help you remember what ®HE: this involves.dtd
J6Y: = dcgay:!!

THEIIEH, EDEE

: TEdaTacges: TG TN 3{FT:
g EF?IH g:dH a?ﬂ?l
FEITIA: FH_ AT
IHETE: T T
MR ek qfca:
HeTced: Hed, ITTq:
HIHMGA: HIH 3=
qETH I
AT = T

JAIacges: TR EIUC I IEE
Hred: E@H Ilad:
FCIEIGE BERIEIGE
FIEEIGE RECEIGE
[COIRGE e &=
TR e 3
HidHeR: HEAT de:
gRara: gRun =1
dehe o FaH,
CAICTA IS TURE R CAITAISE RIS L
H‘IHTEQI: H‘I@T-I EEQI:
LISSEE LEISLE
=g | e
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BICIEETore I ACETc
dl&Rde: qrl shhe:
TR T
RN T IR,
FETE, Fgeinl FUH
HEE: A 3E

And that is the sole reason why you cannot have E{U@?IT%?lal?Las a ﬂ?ﬁﬂ]ﬁ?@ﬂ:
diieddr. is a Present active participle and doesn't fit with the rules stated above.

Instead, you may have a quedied: Gottit?

HHEGGH, [EEERS
Tgeficegen: FUSHTTH FUSHT [EXUTH,

EREUS ERIREEAY

FRfH FRATE i

ijﬁ‘"?i: et e ™|

for eg: §9:

B SIERERE

for eg: AW

Farsaeim, famar gq,

for eg: gVIH

GREISE Al Jfes:

e, T &,

Note:
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The compoundi[&&f&UT cannot be separated intod[Xd SRI0T The fE¥I&: has to be TNI:

e |
HHEIEH ferzre:

‘E‘ﬂ?ﬁ%ﬂ: Sirepey ERCEe
ERUSE T Hife:
ZER: AT Aia:
IIRINI: IRE: it
Al A forTa:
IY(dd: I qidd:
QTQH?B: ElTl?l'I?-[ﬂ?E:

Exceptions AfrdRIENTd: AfedTd. ITNT:

(eHfe<h)

SR 0 STFTa: (YY)
TATRITh: IR Hh: (1)
THEYEH, foorE:
SR 9 W
CEIRE 4IE AHH:
TR, HAY e
RGeS Tl AdA:

Exceptions

A qrEh: (3T
qca9:)

T &l (I, Td:)

S ' (g9
T4
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- wHE & (99
)

- AR Hled ] (A
99 )

i STRIUTET T (3179 )

- Tt gfeta: (<6 e
added to 931)

TAHIAGEN: Yo ST ot S

BERIEEGE 9q dived:

RIAFHINS: wA FIS:

smfrﬁgmz sn"éjg frigut:

EAR R LT FY 99

SCTAGE IS B

SHHH: TS {H:

FEAI Fd TG

AT Wl I

GHEIIGH, e

i Tege: 1510 WA I

‘J{fﬁﬁ'l‘lilgz ISLIGH T'EIHTHE:

aﬁ%mﬁa: S IREACH m:ﬁa'q\

e SicRTel: &

35: SECEECIC

FIE: eRTa: T,
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<
3. RHYNIEHS:
This one is really simple. Whenever two words, one which is an adjective of the
other, are combined, you have a FHIEEHE: S0 you will have a combination of a

fer2I9uTand a 93T |, an ITH and an S9HE | Since one is a [9RSUT of the other,
naturally, when a faE: is formed, both the words will be in the same ferfh: |

You may see the words @ S| , 89, W inthe faoi@: to reinforce the relationship

between the two words.
¥ meaning "beautiful/ good" and % (fl%\‘:l?-l ) meaning "bad" are added to words to

<
form a RHIIEHNE: |

Note:

Why has this particular GHIE: been calledFHAIRE ? Simple.

Let's look at an example..AIBIASH | IS Hioaul aREfd |19$ becomes the
object in the sentence.

Similarly, 7[&<d: | 7&: ¢a&d 9¢ ¥NAd |Alternatively it could be:d@: I: &4 TR
| If you look at the examples in the tabular column, you'll begin to see how one of

the words "becomes" the object of the other.
Even if that may not be an authentic explanation, why must we reject it if it helps us

remember what the %FQIWI'{J: is?!!

[ o

SHAIEHH: HHAAYGH [ER2ER
T wE A I o
IS, AioH 93,
o~ ¢ a_a_? @:
TR ST, FGHH 39 RHSH,
TEHEH, <Teg, 39 §ET,
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HEYEH, Hd 93TH 39
HERHGH, A FHSH 34
JeNRE: ges: fE: 59
FEIEd FEI] %3d (both are
adjectives)
HaTgfosd: wad ofead (W
T =9 s)
T = S
(opposites)
31@6[: 316: qq éﬁ‘
ferra=q. o Og v g,
qqra=yq. d9: 99 O,
EEGICH e, U
SRR I Ffd TR
STHdET: 3 3 g8
FI: Flcad: T:
FHTAT Fleddl ATl
qIes: AA: To:
SSEE FAA: T:
¥

4. Tevpawa:

HHA: with numbers!! Just the examples themselves will help you figure out what is

what!
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o o

. TevaEme: THEYEH, [EREE

EENCEE QR TG THER:

qHI=H, Gl 9T FHER:

EReCt| ST I THER:

RCRAL U P! R

qaE: QA & GARN:

AR /A ATt AT FHER:

Breet ER I EAG]]
FHIEN: (FHRN-BF —

REE EESE  GHRER:
(SRR — IS —haS
s )

RECE| T aF| THER:
(SN — T —HaS
—frfess )

EIGICE A T
GHER:

SUHT: YUUTE HISOTH STHEH,

%H@I: gqﬁ:msﬁ:am?:n{

EEUCLCE O 9 9 9 |2

RE A E (G qq @ @gEl GHER:
(SR @7 )

5. &g dHME:

Just take a look at the examples. Easy.
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Between every word, be sure to add the @ . A compound of two words will be dual
and a compound of more than two will be in the plural. A point to be noted is that
words beginning with a vowel and words ending in 3T&%[«d should come first.

o

THEAEH fora:
Red R & ( W= words before
IR )
il 21 F
SO CAMECA L O 3] T TE
REEREN e =z
et M FEa
TR NEET: T RN Feeas
ATy HTan = o =
qrioTaTEH qIoT = 91 = T R
LREIGINCC TRt rgRiET T GHER:
RIRIGHRH, FIh IGH AN THEN:
EEEIETT g qsie] ST HHEN:
AT, IRl = R I THEN:
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TFHRRI: a part of the E5TH:

When similar things are put together and the entire compound is described by just
one of the words, either in the dual or pIuraI,Q'cElflﬂ: is seen.

o

IS, fore:
E3) 9" o
ey 1 = T =
IRy Il = &1 |
kall g gfed
& &9y &9
ar g: 9
Qi g: 934
o el Wawa
9 EeIEERE
T A A

6.9

Read our simple explanation again of this particular @HME: (given at the beginning
of the lesson) then let's move on. You'll find either both the words of theld¥&: in the

same T¥RE: or they may be in different TeRld: s.

Since we are talking about someone else altogether, you need to describe the
compound by adding a @ &:, Iq q: , AE: |l and the like.

In other cases you'll see compounds formed by a combination of Hgwith the QT-’WT

o o

¥Hld: |
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Note:

The word ag?fr\%: itself means "a person who has plenty of rice". In other words, a
wealthy man. A long time ago, parents would give their daughter in marriage to Mr.
aET;m%t who would have the capacity to look after their child well. It won't be

difficult now to connect this word to what the |HIE: implies.

o

IS, foerE:
sameﬁ'ﬁrﬁﬁ

THIGH: STEH, 35 4 @ |

gaRE: (1) g1 T4 34 q: |

ERGIGCE Fid Wi I G |

ERIREaC| 3Tt e 991 4 |

g AT oo < A |

eIt ( < i T G: |

fieg: )

JEAIGT (R ) Iga: Sl & /@ |

qfaqut: (J&: ) qfefaTi=l quTliel T, &: |

TSI (Sl TTicSaTtel JSATIOT J&=T: &M |

S| FYadl W1 T 4 |

TEME: TTET WAl TE

TERIh: Tel Wih: I - |

similarly :

e | ZaeE:

TR
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Wﬁl: (TmA:) T Jeul: IR G: |
Differentfeith:s.

T T IO T Gz |

TEHUS: Tg: FHUS T F: |

AT WIS I: TE @: |

TegHiT: Tg: Al T - |

EREE oY FUS T 9: |

RUSHIS: FUSHS: T Q- |

With @& HY: /FEY: YT HE Al el
(T fea: )

T [AEg FTEH T add 31 |

HRIS: FHUT HE Tdd 2 |

T3 SIH1 T8 add 2 |

HETAIER Hed TR A& GQ: (w9 is

JARTIRI: added because no other
rule is applied to 931
when forming the
compound)

SgHATh: I A: T @: (FY s
added because no other
rule is applied to HAY
when forming the
compound)

%Y is also added é”c‘l@cﬁ‘? A Fdl T G- ( RN

when the last

1.)
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word is a
FMNd in any
gender, or is an
EEEFITIFT or
SE  Eiog
word
SRISLIECE WIS A@ TF |
(TR )
SEBIGEE Tl U1 I 4:
( FRN<Y )
SRR g3l 99 79 | (SHEW
&l )
BITElIE: 9Tl & T G (SN
&l )
7. 31g% @HE: |

'\ '\ . . .
In cases where the [dHI™h: remains in the@HEYGH ARE HHME: s seen. It can be

any of the ones that we have studied in detail.

THETTH ferzre:

gUnTd: qUd T TEHIATEN:
STg: el g ST
TEHTEH, T 9 T degE:
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= > N
STTAIEH, T e, gl acges:
ST TS FS: E I BCTU CRE] I
CE G € W SYUGEHHTE:

8. ASEHE:

Add an 1 if it is followed by a FHAAH_ and an 31 if followed by a &X: |

HECGH, fersre: =

INEE: q @=g:

31%[‘5[: G ]%['5[:

I q o

AN, 7 T,

Afaare: A foame:

$Mg: 9g:

CENCIESE < JUH:

ITIeT: /T2,  gee:

Y HfTHE: O TE |:

ITA: Al 9 T
H:

HYAS: =g T |

NS NTH: AT T |-

FFH: ST 7% g

TR < fard Her: e |:
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AT qd faud e TE:
qn

T T kUi T «:

9. SUISHHTT:

This is a _@HM™E: with 399gs. Here the word 3949gq stands for any noun.

HHETEH, EPEE g
FOTRN: o1 Ffd 3
ICEIETE GRIETURER
GERIGEE SERUGIEET
SIS SWt 9§, 30

TEFd, /2SR BUCERUR T
ISR /TS IS ETREE
ERCECE ford e gfa

IS R ERURET)

EEICEE ERIECIRHE

geg: PEECIREHE

qaRE: Frlﬁ"ﬂ?ilﬁi'ﬁl
Qe / qiUSaH, (ST
qroeaHT Jo=ad 3fa
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Worksheets.

Just try and understand this:

T WEEIT SIS

T HAdge A Rl qguEd |
3 AHHAh dot & AT |12

¢ ) &RH - WH | (5] dgeY )
R)AAWH, - 3THWH_ | (o] dIeH )

SN~ S N

) In faaEn: - JeTaaEn: | (S degey )

Aiearfegam a9 auged: |
ha¥ o ha¥ < o
o TTgafed AE GengdiRd T (1 g |

) @G AW d - EHgS: |
R) Geh ey - gefeaH, e - weRfdfed (Al deged)

FAACHIRISH Fg AW |
HEFIRAAR] ad: F& TarenarF,_ || 22 ||

2 ) AHANH, - TEWE, | (TS} degEd )

AN, ST: — Favmnerd: | (e acgey)

R ) GETOT FHHTIOT -FARHIT | (FHIRD )

HEFHIU RSl - TIRAGRSN (TS dged )

HEFIRSH AR - GIRAGRGENT: |, 0 — GIRAGRGENH, (T85! dcgey )

=~ < o
RN TR HT: FE0 T |
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ferrml ferEgR: qug:age: &t |123 1|

?) T ¥dl: - GEdT: |, AN, - G, | (FHORE )
R) fopTd AR EAd | - fw: | (R @gAR)
3 ) foeTd eRgR: T |: - feReEg: | (onfe 9gEie)

) FEAAGET - gEW | (F%)
o §EdEd: I 9 - gug:EgE: | d9gAiR

HeE: Had IF1 FATHT Temed: |
[ay N o ¢

AAMAAIGAl Ageh: GHPR: |] 2% ||
?) Te: e - gefiam: | (T4
T T Q: - T\ (9gAe)

R) A - FE | (EE)
e Ty 99 @ — afiaeege: | (TR )

TS SR SwElestd 9 I: |
C C SN ¢ =

EIMEAIG Rl 49 T H e |ley ||

?) EN: F SAY: I VE AT A - ENHIIEIET: | (578)

O e IS o |
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Please do write in case you have any questions regarding this lesson. Hesitate not
and thy doubts shall be gone with the wind!
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